






W = EIt = EQ

BPstiautBupa  (Joules) da

1 1” = 1 x 107 sEh (ergs)

= 0.2390 maoi  (Cal)

. . . . . . . . . . . . . . . (4.3)

P= EI = E? ..,............ (4.4)
-> 1
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international emu es(l

1.000165 MlXJLdf 1 x 10-t 2.9978 x lo9

Ifi7  a70‘~~~~,~,~,n”,  --p.--
0.00111797

= 96,487 Fpa.JJnbj
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ii&i1 llllZJ
91nQUnl'b  (4.6) M = ;

LLYlWfil m = 0.20 x 30 x 60
107.87 96500

en 343



. . . . . . . . . . . . . . . (4.8)

&'lM'  x lfluaniw~l~lrwl~  (Specific conductivity or conductivity)

1xc -
p

. . . . . . . . . . . . . . . (4.9)

L = ; (“a)

= . . . . . . . . . . . . . . . (4.10)

VEI W5 8 (cell constant)

Lwxxb&uwntvami3  (4.7) bw (4.10) abwwii  $ = k

R = kg . . . . . . . . . . . . . . . (4.11)

x = kL . . . . . . . . . . . . . . . (4.12)
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kxc-  = 44.597 cm.-’
R 4573.4 .Q
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Equiv.1
liter KCI HCI &NO3 Yz H,SO,  Yz BaCI,  HC,H,O,

149.86 426.16
- -

147.81 422.74
146.95 421.36
143.55 415.80
141.27 412.00
138.34 407.24
133.37 399.09
128.96 391.32
123.9 379.6
117.2 359.2
111.9 332.8

133.36 429.6 139.98 390.7
- - - 134.7

131.36 413.1 135.96 67.7
130.51 399.5 134.34 49.2
127.20 364.9 128.02 22.9
124.76 336.4 123.94 16.3
121.41 308.0 119.09 11.6
115.24 272.6 111.48 7.4
109.14 250.8 105.19 -
101.8 234.3 98.6 -
- 222.5 88.8 -
- - 80.5 -
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i1$1hda6  A o (25°C) ~I?~%JIIW&

KC1 149.9

z
34.9

LiCl 115.0

KN03

LiNO,

HCI 426.2
4.9

HNO, 421.3

KC1 149.9 1
4.9

KNO, 145.0

LiCl 115.0
4 . 9

LiNO, 110.1
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~w-3lzm.h  dlnshrasnl-xein~a K =
1  CH,COO-1  [H + ]

[ CH,COOH ]

CZ2C=-. . . . . . . . . . . . . . (4.18)
l - a

nasiina~dD~~Ojinl’bbl~n~a~~OBJin  I,WXQ~~~ a < < 1 o:‘bA

K31  a*c . . . . . . . . . . . . . . . (4.19)

K = C A*

Ai(l- . . . . . . . . . . . . . . . (4.20)
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h = A,-(A+BA,)&? . . . . . . . . . . . . . . . (4.22)
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wmxb~~~ a = 48.15
390.7

= 0.1232
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t+ “+-=-
t . . . . . . . . . . . . . . .

”
(4.50)

- -
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il
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LW1ltQt~u  t&Z+  =  ;gy: = 0 . 3 7 9

‘+ =l - 0.379 = 0.621

mlzl- =  0 . 0 0 0 3 7 5
M

LWllfa~~~  t- = =  0.000233  = o 62,
0 000375 .

0198:Yll  t,  h  ( 1  - ‘+)  -

!E!&+d$ = O.ooO233

t+ d$ = d$ - O.m233

- - 0 000233

t+ = ++f-

M

= 0 . 0 0 0 3 7 5  - 0 . 0 0 0 2 3 3  =  o 379
0.000375
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c = loooH
loo0 ?f

-L-Z
A0 /lO+/l”+ -
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Hz0 +  H,O$HH,O+  +  OH-

Ka = CA2
ho A.0  - A

%lles aiLh4

C A  = K a $(I-%)

z Ka ( $i  - Ao  )

2
A’=- Ka - Ao  Ka

CH3COOH  G CH,COO-  + H’

(I- a)C ac aC

Ka = 3.
1 - a

a*C  (dkwh a =ikmln)
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x

C

IILA -p-

K A

L--\+--
B\ C
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